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ECONOMICS
( General )

( Indian Economy with Issues of North-East )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
oS fRa 2PIARN T fian -
fa) What is rural indebtedness?
A FelreT 2

(b} Mention two reasons for unbalanced
localization of industrial growth in India.

SRS ST Sag SRAMRN TAEIAR I
TR Y 79
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(c)

(@)

(e)

(9

8A/941

(2)

Give two causes of low agricultural
productivity in North-East India.

W,oﬁquﬁqﬁa%imﬂﬁwﬁlwq
il

What is literacy rate?
ArFTeR 2R 32

In which year was the NABARD
established?

(¥ 578 NABARD T 41 (2t 2

What is multiple cropping system?
A P TeAR I 15X

Write two main problems of road
transport in Assam.

wﬂwﬁ««@lﬁ’fﬂmﬁ“"

i ns behind
Mention the two ma.un reasons :
the reduction of cultivable land in India

day-by-day.
ows fe fict RGA ZP1 (TR 1 A
FRITEIFN

( Continued )

2. Answer the following questions :

Ge7e fall acaRe e R -

8A/941

(3)

() Write the name of two economists who
estimated national income of India
during British period.

PR 2PrRETS SISt I AR A4 T
MR M o |

(i) Define birthrate.
RIS i5e o

2x5=10

{a) Why is per capita income of North-East
low compared to other States of India?

Ter-offiwere wR WM SReT I IR
TS [ 797

(b) Write two main objectives of land reform

measures introduced in India.

TRES RS N PR AR TR I A4
ST STmy 940 |

(c) What are the major drawbacks of power

sector in Assam?

:;*r%wamwamm
?

( Turn Over )




(d)

(e)

(4)

What is density of population?

quwamaﬁmvf$?

Give two reasons in favour of
disinvestment policy of public sector
enterprises in India.

ST 599 Aed SooeR R AR
7o1 35 R o

3. Answer any four of the following questions :

5x4=20

wors fim 2] R e vt Se

(@)

(b)

(c)

8A/941

Write a short note on Advantage Assam,
2018.

qEOTCOE RN, 05vd @RS «b oY (ORI
foram 1

Explain the importance of tertiary sector
in Indian economy.

SRe WSS CENEI 4T I F9 |

Mention the reasons behind the poor
performance of Green Revolution in
North-East India.

SRS TeR-Hiwee oivw e yda o
PRIIF Tead 390 1

{ Continued )

(S)

(d) Give a brief idea about the prospect of
industrial growth in North-East India.

Tea-{ SReT SHE SEIE  BRANSR
8°[S «b1 53 e fan |

(e) Give a brief account of the natural
resources of Assam. Do you think that
excessive use of natural resources is
good for development?

TR AP TR <GB e RR Mg
11 AT oM Tofie 9T SRR I
S 3 SR 2

(1 Mention . the different land tenure
systems prevailing in India.

o 3 [ifen piTe 9Ptz B 741 1

4. Answer any four of the following questions :

10x4=40
@1 fAmn opeaRs R e wifibe Ses fam -

{a) Explain the different serieses used in
estimating national income of India.

SRey B 9 AR TR CFIS TS
fRfSw ey rm 40 |
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)

(c)

(@

(e)

8A/941

(6)

Discuss the trend and composition of
national income in India before and after
the economic reforms.

AT AR T F Pes et 88
HRA SIS AP 159 STS DA NG |

Explain the role of agriculture in
economic development of India.

SR QAT Tage $RT SiF T F91 1

Discuss about the various sources of
industrial finance in India.

SRS erie R RiSa Ber s7=ord smeas
Eo i

Discuss the various bottlenecks of
growth of tea industry in Assam.

TR bR SvorR e RRtw opRermz
S 341 |

What is occupational distribution? How
does it reflect the trend of economic
development?

s <R 2 IR T R AT
g ISR =rer fiew 2

( Continued )

(7)

{g) Discuss the various demographic features
of Assam. How is it related to socio-
economic development of Assam?

Y SRR AFERAR SR T4 | SRR
- TAER Ao W3R R wfde 7

(W) How <can transport, power and
communication help a country in
economic development? Discuss.

Az, A IF @I TR /BRI 9=
R RAST SeS 72 FCI 7 A 64 |
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